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QUESTION 1

What body exists to support the authorization of changes and to assist change management in the assessment and
prioritization of changes? 

A. The change authorization board 

B. The change advisory board 

C. The change implementer 

D. The change manager 

Correct Answer: B 

 

QUESTION 2

Which of the following is NOT one of the five individual aspects of service design? 

A. The design of the service portfolio, including the service catalogue 

B. The design of new or changed services 

C. The design of market spaces 

D. The design of the technology architectures 

Correct Answer: C 

 

QUESTION 3

Why are public frameworks, such as 1TIL, attractive when compared to proprietary knowledge? 

A. Proprietary knowledge may be difficult to adopt, replicate or transfer since it is often undocumented 

B. Public frameworks are always cheaper to adopt 

C. Public frameworks are prescriptive and tell you exactly what to do 

D. Proprietary knowledge has been tested in a wide range of environments 

Correct Answer: A 

 

QUESTION 4

What is the name of the group that should review changes that must be implemented faster than the normal change
process? 

A. Technical management 
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B. Emergency change advisory board 

C. Urgent change board 

D. Urgent change authority 

Correct Answer: B 

 

QUESTION 5

Which one of the following is the purpose of service level management? 

A. To carry out the service operations activities needed to support current IT services 

B. To ensure that sufficient capacity is provided to deliver the agreed performance of services 

C. To create and populate a service catalogue 

D. To ensure that an agreed level of IT service is provided for all current IT services 

Correct Answer: D 
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